run_13050046 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
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run_13050046 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
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run_13050046 FGT_RMS 1, Timebin=2,Disc=1,asmb=1DA
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run_13050046 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
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run_13050046 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Sun Feb 19 14:19:31 2012
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run_13050046 FGT_RMS 1, Timebin=2,Disc=1,asmb=1DA
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run_13050046 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB
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run_13050046 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
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[ADC MPV for RDO=1ARM=0,APV=12_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=16 }

MPV (ADC-ped)

APV channel




run_13050046 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
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run_13050046 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB

Sun Feb 19 14:15:47 2012
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run_13050046 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
Sun Feb 19 14:19:34 2012
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run_13050046 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Sun Feb 19 14:20:09 2012
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run_13050046 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA

Sun Feb 19 14:16:00 2012
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run_13050046 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
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run_13050046 FGT_RMS 1, Timebin=2,Disc=2,asmb=2DA
Sun Feb 19 14:20:10 2012
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run_13050046 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Sun Feb 19 14:16:12 2012
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run_13050046 FGT_RMS 1, Timebin=2,Disc=2,asmb=2DA
Sun Feb 19 14:20:11 2012
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run_13050046 FGT_ADC_1,Timebin=2,Disc=2,asmb=2AB

Sun Feb 19 14:16:16 2012

ADC for FGT RDO=1ARM=LAPV=12 _§

ADCyged

1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=1APV=13 _§

ADGzped

I
3000 4000
raw ADC

1
0 1000 2000

[[_Apc for FoT RDO=1.ARM=1.APV=14__ ]
—

ADCiged

I
3000 4000
raw ADC

i i
1000 2000

[ ADC for FGT RDO=1,ARM=1,APV=15

ADCrged

0 1000 2000 3000 4000

raw ADC

[__ADC for FGT RDO=1,ARM=1.APV=16 _§

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=LAPV=12 }
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 =
=
1500 f=——
1000 f=——
=
500 fm——
=
=
ofE—
=
0
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=13 "}
- 4000 p—
g = H H o o o
9 E e e T e B e S R P E PR R R TE SR T
< =
gD |[=—pe=q°ooo9500508s005c0000550050909055000059500p0959¢80050095005095905508H0950050595965505903500509556550990954(030950
Bl e TR e P L E T S T S PP PP
B e e e ] A P ] A PR R TP PP PP SR
=
1500 P e = = e s
=
EL Tl e B e A S R P PP PP PP PP
=
500 f=—|- - - EERREE
=
L D T B T SRR T It CEee
=L . . i . . . i . . . i . . . i . . i . . . .
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=14 }
- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=15_}
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b=
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=1,APV=16 l
.- 4000
9 3500 L TR R T .-
<

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13050046 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2AB
Sun Feb 19 14:19:37 2012
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run_13050046 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB

Sun Feb 19 14:20:11 2012
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run_13050046 FGT_ADC_1,Timebin=2,Disc=2,asmb=2AB

Sun Feb 19 14:16:29 2012
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run_13050046 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2AB
Sun Feb 19 14:19:38 2012
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run_13050046 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Sun Feb 19 14:20:13 2012
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run_13050046 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Sun Feb 19 14:16:42 2012

[ADC for FGT RDO=1,ARM=2,APV=0 }

ADC-ped

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=1 }

ADCrped

1 I
0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=LARM=2,APV=2 }

ADCped

1
2000 3000 4000
raw ADC

1
1000

[ADC for FGT RDO=1,ARM=2,APV=3 }

AD%ped

1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=4 }

ADCrped

0 1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=2,APV=0

= 4000 p—
5] = .
o = :
Q 3500 |- - {1 f - EETE B BYERE | EEE R | REPrr P
< =
3000 = - 1=t - - - - EEES B R £ R e g
=
2500 =g+ - 1=t - SR B B R £ EEE RO 1 T R R
= 2
2000 f=t—|- - 4= 1< f -0 - 1 EEEX B B3 EEE | EEE EURY | R X T R R
= 8
= 0 -1
1500 == - 1= 1 -} - - -+ R [ O R N Y PR 10
1000 P=t—|- A= 41 -f - - - 1 EEEE B BUEEE £ ERE R B TR
= 2
= 2
500 |- - 4- 4o} -1 Y 1 1 aofhecsacas
= 2 5
= S = _— _ 2 >,
(== SRR SERRP Ce B SRR | B e § SR e 10
= i i i i i i
0 20 40 60 80 100 12
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=1
4000

3500

ADC-ped

3000

2500

2000

1000

500

0

10°

rm
ke
=
=
=
=
rm:
1500 [
=
rm:
=
=
o
I
=
0

[ ADC for FGT RDO=1,ARM=2,APV=2
4000

" 1
80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

aEldENATERIAGNATERAARNATGRARRIATENATENATENAG]

10

10"

[ ADC for FGT RDO=1,ARM=2,APV=3
4000

APV channel

il

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10°

10"

© TR AT TR AT IT

[ ADC for FGT RDO=1,ARM=2,APV=4
4000

80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10°

10"

© R A A A

APV channel




run_13050046 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Sun Feb 19 14:19:39 2012
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run_13050046 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
Sun Feb 19 14:20:14 2012
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run_13050046 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Sun Feb 19 14:16:53 2012
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run_13050046 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Sun Feb 19 14:19:40 2012
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run_13050046 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
Sun Feb 19 14:20:15 2012
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run_13050046 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB
Sun Feb 19 14:17:00 2012
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run_13050046 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB

Sun Feb 19 14:19:41 2012

[ADC MPV for RDO=1ARM=2,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=2,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=2,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=2,APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13050046 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Sun Feb 19 14:20:16 2012
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run_13050046 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB

Sun Feb 19 14:17:02 2012
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run_13050046 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB
Sun Feb 19 14:19:41 2012
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run_13050046 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Sun Feb 19 14:20:16 2012
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run_13050046 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Sun Feb 19 14:17:08 2012
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run_13050046 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA

Sun Feb 19 14:19:43 2012
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run_13050046 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Sun Feb 19 14:20:18 2012
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run_13050046 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Sun Feb 19 14:17:10 2012
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run_13050046 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Sun Feb 19 14:19:43 2012
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run_13050046 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Sun Feb 19 14:20:18 2012

[CADC RMS for RDO=1,ARM=3,APV=5__}

RMS (ADC-ped)

i i I—
20 40 60 80 100 120
APV channel

= j j j i
® 0

[ ADC RMS for RDO=1,ARM=3,APV=6 }

RMS (ADC-ped)

50 fr

40

aaiblli
I::I

30

20

10

OSFFTFIT-TFILTFTTFIT-T'F 1-='Ir

. . . . . . . . . . . i . . . i
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=7 }

RMS (ADC-ped)

60 [

(=
50—
s

40 [
30 [
1
20 [H
FH
L o O B = R I R -2 PO PP PR PP PP PP P PR SEPR
[ H
n i
0% 20
APV channel

[CADC RMS for RDO=1,ARM=3,APV=8__}

RMS (ADC-ped)

60 b=
=
=
=

50 f—

20 [

20 f—
=

1o fE—

0%

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=9 "}

RMS (ADC-ped)

=

2
—
18 P=
16 =
14
12 [
1
08 b=
06 p=
04 =
=

02

0

APV channel




run_13050046 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB

Sun Feb 19 14:17:16 2012
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run_13050046 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4AB
Sun Feb 19 14:19:44 2012
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run_13050046 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Sun Feb 19 14:20:19 2012

[ADC RMS for RDO=1,ARM=3,APV=12__}

RMS (ADC-ped)

120 F : g Th0505000905 MR E00350530503005050050PIO0EEE30503000AEE5305APO0EEEO050505005053050IPOOATE0S

100 f

80 [ - SRTSRTEEEE || ERPPEPIPRR TR ERTETEPE R TETEPREPD TR ERETEPEPRE REPEPRE
d : : : :

60 fr B i P P AT - frjeooo - % ooooaanangaod bE s

m|E . : . . S e D & |
L . . f . . .

|

APV channel

20

[ ADC RMS for RDO=1,ARM=3,APV=13 "}

RMS (ADC-ped)

70 [

60
50 b
40 f—
=
—
)=
20 f—
=
=
0

10

[ ADC RMS for RDO=1,ARM=3,APV=14 "}

RMS (ADC-ped)

60 f—
50
40
30
20

10 £

i
120
APV channel

[ADC RMS for RDO=1,ARM=3,APV=15__}

RMS (ADC-ped)

60

50

40

30

20

10

°‘I'I'I'I]1111]I1II|HH FHHEFFFH

APV channel

| ADC RMS for RDO=1,ARM=3,APV=16 }

RMS (ADC-ped)

60

50

40

30

20

10

20 40 60 80 100 120
APV channel




run_13050046 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB
Sun Feb 19 14:17:23 2012
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run_13050046 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4AB

Sun Feb 19 14:19:45 2012
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run_13050046 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Sun Feb 19 14:20:20 2012
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run_13050046 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Sun Feb 19 14:17:26 2012
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Sun Feb 19 14:17:33 2012

[ADC for FGT RDO=1,ARM=4,APV=5 } [ ADC for FGT RDO=1,ARM=4,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=6 } [ ADC for FGT RDO=1,ARM=4,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=4,APV=7 } [ ADC for FGT RDO=1,ARM=4,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=8 } [ ADC for FGT RDO=1,ARM=4,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=4,APV=9 } [ ADC for FGT RDO=1,ARM=4,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=5DA

5,asmb

ISC=

in=2,Di

imeb
19

Sun Feb 1_9 14

run_13050046_FGT_MPV_1,T

46 2012

TARM=4,APV=5_}

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

=6 |}

ARM=4,APV:

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=7}

ARM=4,APV:

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=4,APV=8_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=4,APV=9 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel
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run_13050046 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
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run_13050046 FGT _RMS 1,Timebin=2,Disc=2,asmb=2CD
Sun Feb 19 14:20:30 2012

[ADC RMS for RDO=2,ARM=LAPV=17 _}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=1,APV=18 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=19 |

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=21 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13050046 FGT_ADC _1,Timebin=2,Disc=3,asmb=3BC
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run_13050046 FGT_MPV_1,Timebin=2,Disc=3,asmb=3BC
Sun Feb 19 14:19:56 2012
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run_13050046 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
Sun Feb 19 14:20:30 2012
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run_13050046 FGT_ADC _1,Timebin=2,Disc=3,asmb=3BC
Sun Feb 19 14:18:42 2012
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run_13050046 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
Sun Feb 19 14:20:31 2012
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run_13050046 FGT_ADC_1,Timebin=2,Disc=3,asmb=3CD

Sun Feb 19 14:18:44 2012
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run_13050046 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3CD
Sun Feb 19 14:19:58 2012
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run_13050046 FGT _RMS 1, Timebin=2,Disc=3,asmb=3CD
Sun Feb 19 14:20:31 2012
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run_13050046 FGT_ADC_1,Timebin=2,Disc=3,asmb=3CD
Sun Feb 19 14:18:51 2012
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run_13050046 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3CD
Sun Feb 19 14:19:59 2012
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run_13050046 FGT _RMS 1, Timebin=2,Disc=3,asmb=3CD
Sun Feb 19 14:20:32 2012
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run_13050046 FGT_ADC _1,Timebin=2,Disc=4,asmb=4BC
Sun Feb 19 14:18:57 2012
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run_13050046 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Sun Feb 19 14:20:00 2012
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run_13050046 FGT_RMS 1,Timebin=2,Disc=4,asmb=4BC
Sun Feb 19 14:20:33 2012
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Sun Feb 19 14:20:05 2012
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run_13050046 FGT _RMS 1, Timebin=2,Disc=5,asmb=5CD
Sun Feb 19 14:20:38 2012
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